Project Name: Calle Orinda Storm Drain Repair Spec. No. RD20-08 Abstract of Bids opened on May 12, 2020

ENGINEER'S ESTIMATE: 350,000.00

LOW BIDDER - J & H Engineering General Contractors, Inc. Camarillo, Ca 93012	290,647.00	12th Bidder - Blois Construction, Inc. Oxnard, CA 93030	520,383.00
2nd Bidder - The Adjul Corporation dba Lee Construction Simi Valley, CA 93063	293,763.00 Co,		
3rd Bidder - Toro Enterprises, Inc. Oxnard, CA 93036	300,639.00		
4th Bidder - Sam Hill & Sons,Inc. Ventura, CA 93005	328,173.00		
5th Bidder - Ground Breakers Construction, Inc. Lebec, CA 93243	334,896.00		
6th Bidder - BSN Construction Inc. Ventura, CA 93003	338,389.70		
7th Bidder - Cal Prime, Inc. Bakersfield, CA 93314	377,974.00	10	
8th Bidder - J. Vega Engineering, Inc. Oxnard, CA 93031	380,367.00		
9th Bidder - Union Engineering Company, Inc. Ventura, CA 93002	417,059.10		
10th Bidder - Summer Construction, Inc. Santa Paula, CA 93061	498,668.00		
11th Bidder - Judson Builders Inc. dba JBI Engineering Ventura, CA 93023	505,754.00		

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, County of Ventura, at the time and place designated in the Notice nviting Bids, were publicly pened, read, and were checked.

Director, Engineering Services Department

Bids o	pened on May 12, 2020			ENGINEER'S	ESTIMATE	LOW BIDDER		2nd Bidder	
Projec	t Name: Calle Orinda Storm Drain Repair	1				J & H Engineering General Contractors, h		The Adjul Corporation dba Lee Construction	
						4065 Mission Oak	aks Blvd., Suite B 4288 Adam Road		
						Camarillo, Ca 930	12	Simi Valley, CA 93	063
	Spec. No. RD20-08								
ITEM	1								
NO.	ITEM	UNIT	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	LS	1	15,119.00	15,119.00	14,000.00	14,000.00	12,880.00	12,880.00
2	Traffic Control & Construction Signing	LS	1	12,000.00	12,000.00	18,000.00	18,000.00	5,500.00	5,500.00
3	Water Pollution Control	LS	1	5,000.00	5,000.00	7,500.00	7,500.00	3,500.00	3,500.00
4	Excavation Safety	LS	1	18,000.00	18,000.00	9,000.00	9,000.00	5,500.00	5,500.00
5	Potholing	EA	5	1,000.00	5,000.00	2,100.00	10,500.00	1,000.00	5,000.00
6	Clearing & Grubbing	LS	1	12,000.00	12,000.00	5,500.00	5,500.00	5,336.00	5,336.00
7	Pipe Investigation	LS	1	15,000.00	15,000.00	5,000.00	5,000.00	3,472.00	3,472.00
8	Sawcut	LF	1,000	2.10	2,100.00	2.00	2,000.00	3.50	3,500.00
9	Unclassified Excavation	CY	721	110.00	79,310.00	17.00	12,257.00	50.00	36,050.00
10	Slurry Cement Backfill	CY	668	140.00	93,520.00	140.00	93,520.00	148.00	98,864.00
11	Minor Concrete	CY	30	100.00	3,000.00	250.00	7,500.00	275.00	8,250.00
12	Pipe & Structure Abandonment	EA	2	4,000.00	8,000.00	5,300.00	10,600.00	2,000.00	4,000.00
13	24" Reinforced Concrete Pipe	LF	453	150.00	67,950.00	173.00	78,369.00	170.00	77,010.00
14	Monolithic Catch Basin Connection	EA	2	3,500.00	7,000.00	2,200.00	4,400.00	2,800.00	5,600.00
15	Asphalt Concrete Hot Mix	TN	50	140.00	7,000.00	250.00	12,500.00	386.00	19,300.00
16	Release on Contract	LS	1	1.00	1.00	1.00	1.00	1.00	1.00
	TOTAL				350,000.00	-	290,647.00		293,763.00

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Bids o	pened on May 12, 2020	3rd Bidder		4th Bidder		5th Bidder	
Projec	t Name: Calle Orinda Storm Drain Repair	Toro Enterprises, Inc.		Sam Hill & Sons, Inc.		Ground Breakers Construction, Inc.	
		P. O. Box 6285		P. O. Box 5670		P. O. Box 520	
		Oxnard, CA 93036		Ventura, CA 93005	5	Lebec, CA 93243	
	Spec. No. RD20-08						
ITEM	1					LINUT DDIOE	TOTAL
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Mobilization	15,500.00	15,500.00	16,900.00	16,900.00	15,000.00	15,000.00
2	Traffic Control & Construction Signing	9,000.00	9,000.00	7,900.00	7,900.00	15,000.00	15,000.00
3	Water Pollution Control	4,100.00	4,100.00	2,351.00	2,351.00	8,000.00	8,000.00
4	Excavation Safety	5,500.00	5,500.00	11,225.00	11,225.00	20,000.00	20,000.00
5	Potholing	485.00	2,425.00	709.00	3,545.00	700.00	3,500.00
6	Clearing & Grubbing	9,820.00	9,820.00	12,000.00	12,000.00	16,480.00	16,480.00
7	Pipe Investigation	2,290.00	2,290.00	3,083.00	3,083.00	14,000.00	14,000.00
8	Sawcut	4.00	4,000.00	1.50	1,500.00	3.00	3,000.00
9	Unclassified Excavation	59.00	42,539.00	54.00	38,934.00	45.00	32,445.00
10	Slurry Cement Backfill	127.00	84,836.00	155.00	103,540.00	90.00	60,120.00
11	Minor Concrete	182.00	5,460.00	218.00	6,540.00	170.00	5,100.00
12	Pipe & Structure Abandonment	5,995.00	11,990.00	6,743.00	13,486.00	5,000.00	10,000.00
13	24" Reinforced Concrete Pipe	176.00	79,728.00	152.00	68,856.00	250.00	113,250.00
14	Monolithic Catch Basin Connection	2,000.00	4,000.00	2,731.00	5,462.00	5,000.00	10,000.00
15	Asphalt Concrete Hot Mix	389.00	19,450.00	657.00	32,850.00	180.00	9,000.00
16	Release on Contract	1.00	1.00	1.00	1.00	1.00	1.00_
	TOTAL		300,639.00		328,173.00		334,896.00

Bids opened on May 12, 2020	6th Bidder		7th Bidder		8th Bidder		
Project Name: Calle Orinda Storm Drain Repair	ľ	BSN Construction Inc.		Cal Prime, Inc.		J. Vega Engineering, Inc. P. O. Box 6910	
	3445 Telegraph Rd,	Ste 107	3152 Enos Lane		State of the state		
Spec. No. RD20-08	Ventura, CA 93003		Bakersfield, CA 9331	14	Oxnard, CA 93031		
ITEM				i i		ľ	
NO. ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1 Mobilization	34,603.00	34,603.00	22,000.00	22,000.00	23,000.00	23,000.00	
2 Traffic Control & Construction Signing	12,877.00	12,877.00	5,000.00	5,000.00	10,000.00	10,000.00	
3 Water Pollution Control	4,887.00	4,887.00	1,500.00	1,500.00	3,000.00	3,000.00	
4 Excavation Safety	23,089.00	23,089.00	20,000.00	20,000.00	5,000.00	5,000.00	
5 Potholing	1,118.00	5,590.00	1,000.00	5,000.00	10,500.00	52,500.00	
6 Clearing & Grubbing	2,278.00	2,278.00	10,000.00	10,000.00	4,500.00	4,500.00	
7 Pipe Investigation	2,735.00	2,735.00	7,000.00	7,000.00	5,500.00	5,500.00	
8 Sawcut	2.40	2,400.00	2.50	2,500.00	4.00	4,000.00	
9 Unclassified Excavation	63.50	45,783.50	33.00	23,793.00	48.00	34,608.00	
10 Slurry Cement Backfill	153.50	102,538.00	185.00	123,580.00	136.00	90,848.00	
11 Minor Concrete	253.50	7,605.00	600.00	18,000.00	150.00	4,500.00	
12 Pipe & Structure Abandonment	2,851.50	5,703.00	3,500.00	7,000.00	4,000.00	8,000.00	
13 24" Reinforced Concrete Pipe	158.40	71,755.20	200.00	90,600.00	270.00	122,310.00	
14 Monolithic Catch Basin Connection	2,885.00	5,770.00	3,500.00	7,000.00	2,300.00	4,600.00	
15 Asphalt Concrete Hot Mix	215.50	10,775.00	700.00	35,000.00	160.00	8,000.00	
16 Release on Contract	1.00	1.00	1.00	1.00	1.00	1.00	
TOTAL		338,389.70		377,974.00		380,367.00	

Bids o	pened on May 12, 2020	9th Bidder		10th Bidder		11th Bidder		
Projec	t Name: Calle Orinda Storm Drain Repair	Union Engineering C	Union Engineering Company, Inc.		Summer Construction, Inc.		Judson Builders Inc. dba JBI Engineering	
		P. O. Box 1000		P. O. Box 30		3911 N. Ventura A	ve.	
		Ventura, CA 93002		Santa Paula, CA 93	3061	Ventura, CA 93023	3	
	Spec. No. RD20-08							
ITEM								
NO.	ITEM	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	
1	Mobilization	43,332.00	43,332.00	45,000.00	45,000.00	22,729.00	22,729.00	
2	Traffic Control & Construction Signing	22,379.00	22,379.00	19,000.00	19,000.00	22,468.00	22,468.00	
3	Water Pollution Control	8,711.00	8,711.00	9,658.00	9,658.00	1,000.00	1,000.00	
4	Excavation Safety	10,603.00	10,603.00	16,562.00	16,562.00	5,100.00	5,100.00	
5	Potholing	1,132.60	5,663.00	1,576.00	7,880.00	C 1,998.00	9,990.00	
6	Clearing & Grubbing	20,312.00	20,312.00	35,000.00	35,000.00	7,920.00	7,920.00	
7	Pipe Investigation	6,155.00	6,155.00	4,500.00	4,500.00	3,118.00	3,118.00	
8	Sawcut	3.10	3,100.00	7.00	7,000.00	C 202.00	202,000.00	
9	Unclassified Excavation	54.30	39,150.30	76.00	54,796.00	C 29.00	20,909.00	
10	Slurry Cement Backfill	157.20	105,009.60	172.00	114,896.00	C 107.00	71,476.00	
11	Minor Concrete	533.30	15,999.00	640.00	19,200.00	C 443.00	13,290.00	
12	Pipe & Structure Abandonment	3,200.00	6,400.00	15,000.00	30,000.00	C 9,828.00	19,656.00	
13	24" Reinforced Concrete Pipe	168.40	76,285.20	175.00	79,275.00	C 115.00	52,095.00	
14	Monolithic Catch Basin Connection	1,347.00	2,694.00	7,500.00	15,000.00	C 3,726.00	7,452.00	
15	Asphalt Concrete Hot Mix	1,025.30	51,265.00	818.00	40,900.00	C 931.00	46,550.00	
16	Release on Contract	1.00	1.00	1.00	1.00	1.00	1.00	
	TOTAL		417,059.10		498,668.00		505,754.00 A	

COUNTY OF VENTURA - PUBLIC WORKS AGENCY

Bids op	pened on May 12, 2020	12th Bidder	12th Bidder		
Project Name: Calle Orinda Storm Drain Repair		Blois Construction,	Blois Construction, Inc.		
		3201 Sturgis Road			
		Oxnard, CA 93030			
	Spec. No. RD20-08				
ITEM					
NO.	item	UNIT PRICE	TOTAL		
1	Mobilization	9,671.00	9,671.00		
2	Traffic Control & Construction Signing	6,569.00	6,569.00		
3	Water Pollution Control	657.00	657.00		
4	Excavation Safety	21,186.00	21,186.00		
5	Potholing	1,093.00	5,465.00		
6	Clearing & Grubbing	1,740.00	1,740.00		
7	Pipe Investigation	4,063.00	4,063.00		
8	Sawcut	4.00	4,000.00		
9	Unclassified Excavation	149.00	107,429.00		
10	Slurry Cement Backfill	224.00	149,632.00		
11	Minor Concrete	162.00	4,860.00		
12	Pipe & Structure Abandonment	3,361.00	6,722.00		
13	24" Reinforced Concrete Pipe	392.00	177,576.00		
14	Monolithic Catch Basin Connection	3,006.00	6,012.00		
15	Asphalt Concrete Hot Mix	296.00	14,800.00		
16	Release on Contract	1.00	1.00		
	TOTAL		520,383.00		

Spec. No.RD20-08 Project No. 50591

PROPOSAL

Contractor's Name J & H Engineering General Contractors, Inc.

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work	
	8		2	
У.	v v	ā:		
er. er	3 8			
	n d			
8				
2				

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at lease 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.

Spec. No.RD20-08 Project No. 50591

PROPOSAL

Contractor's Name The Adjul Corporation DBA Lee Construction Co

List of Subcontractors

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Business Address	Items of Work
Clemons Land Survey	L-7513	Usnpood Baraco	Sorvey
,			
	941 		
			×.

If more space is needed, attach additional sheets.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

NOTE: Contractor shall perform, with its own organization, contract work amounting to at lease 50 percent of the Contract Price. See Specifications Section 2-3.2 for exceptions.